__'ENCEMENT oF THE_EXAMINATiON SHOUL
TDOES NOT HAVEANY- UNPRZNTED OR TORN OR MISSIK
90, " GET [T "REPLA

KLET SERIES ALB, C ORD,ASTHEC
WER. SHEET!JSING BALLPOINT PEN

% DARKEN - Rou_ NO.,
ER:SHEET-AS WELL AS FILL S
'S AND SERIAL NO,’AND ANSWER' ‘SHEEY SE}
REF ILLY WRONGLY FILLED UP ANS

(questi SLN
: _bil?ty & SI. }No B

L -'-"'-:'-"Mathématlcs Each iler (questton) comprises four response answers |
select the: correc_t-respo___se (answer} which- you_ want fo mark (darken) o
heet. In case, ou feel that there'is morethan g i

darken): in th' Answer'She t the Tesponses. (answers) to

the Test Bocklet; You: ‘have o fill-in-some. particulaﬁ sn the o

€ instrucli ns sentto'you with your Admission Certifica R
vall your responses’ (answers) of the Answer Sheéet dnd after P

ion, you'shouldhand overto the Invigilatorthé Answer Shesfissued - o
__'haIIOWed totake With you the candidate’s copy / second. age of the Answer .

Bo 'oquf_a ercompletion oftheexammat[on {:‘.’ﬁf‘?{_‘?{.‘c@{‘, CoE




S Arrangethe "

. meaningfu! sequence i




5 AB c D E F GHIJK L M N @j PARS ¥

STUVWXYZ . ;{ha Wi |
Which letter_m this a_!phabet fs the

3 e ) gl et

e:gh{ higttert

F3 -“:3 A7

is%’i

(Jl

Lol
M

‘."{-J ,.._\._'.I .

__'7. : ‘Ifycuwntedown aEIthenumbersfrom i
L L 1y

—{"1‘? \ Lomi

------

T > (_jwfs-:: f:’f?f. t\i ta

P ls the brother of Q and

def‘ n:tely true 7 s 'f{. ‘-

(A) TIS stather . Q{L}
(B) S is P’s mother . k}}
(C) Pi is S’s son | 1 .

( ) le T's son .

| O‘—a*?ZA/ZO N

the nght'of the letter and.
whlch s tenf eiter foffhe: leﬂ of'the‘

i

a } -_

o (A) Mother s Sisfer

R {%t :
(B) C—?randmothel''t o

' ‘” g and F C :s the‘élss_{er of F“Bis the
| brothei-of E's hus]o'énd Disths fa‘ther *
ofA and grandfather of F There are P
two fathers three brot]]ers and a

. mother in the group Who is the |

. IJ\.-'

. \".; .

‘ mother? N
-‘r't(A) l.‘. A ‘, _1.'_-_‘.'
(B) B

(0) C

e R

-Iﬂ A is B s s:ster C {S B s motheﬁ D s
C s father E IS D's motherzThen; how

lsA retated to D ’?

(A) Grandfather o
(B) Grandmo{tir:e!r ::;_ S
© Daughter Co

(D) Granddaughter pho

'E""i . {{_3}' | -

e

~ (Tumoverys




12 Awoman lntrcduﬁes_;a’?man as the (0 ‘“299?;“ 1?"? L k a

R sty dfthe brother ofhermother How -

isthéman, relatedtofheWm‘nah? SRR e gliAL
BT ET S L 16 Two bustlcketsfrom crtyAt'c?Band o
'(A) Nephew T R e L L A N

Cyeinen he three ttcikess frorn city. A to, G cost

lft T4y %’}3}’} %i}:i’*i

Rs 7'{ bugthree ti@ketgfromqtymo ,'

B and two ’(lckets from Glly ‘A‘to G' E |

!

osi Rs 73 What are the faréls fo:' "

citzes B and Q from A ‘?

(A); | Rs 4, Rs 23 e

e

(C) Rs 15 Rs 14
(D) Rs. 17 Rs i f‘s\

17

15 -__1 2, 3 10 ? 9802

T . R f; a:;;; g;;,:-:.-; R I

1(A>‘ 99

S Mk o ;‘!%

PR

R (v B RNV TR

. "-_(B) 199 .

Ncmo o (4)3 S oscan




18 583isrelafedto293 mihesame\a:ay : (B) EO JDE JFM““”‘ Y

as488 is related toﬂ. ;{N * e

R ( ) MFEJDJOE--
(A) 291 CoeEoRr o i
g (D) EOJDJEFM

22

i

73 What ;_mlfisé’.-_th_éf;-

R .,19,- -Sam ranked chf om the topand 38th
N TP O L BURICIR LY SR A I
T from lhe bottém in a class How many

.‘ | students aré there ln the c!ass ?

- (©) ztares

"tDii2?64?$i?7‘”

21 !n a certam code Eanguage |
o _:.’COMPUTER is wrltteps as’
-+ RFUVQNPC, Howm!lMEDlClNEbe R
. R ;_'(Q) ) South
wntten mlhatcodeianguage? S

e ® :‘IMFEDJJOIE:' -_(_’E.)),"Data is madeCIUat

| NCV‘&NQO '7' ' e b




24 Findthe oddoneout: i

g _(A) Cruéédé. :

Campatgn

"'( )

Expedzt[on a

wnth the tenth Ietter and S0 on’f whlch

letterwould come aﬂerthe IetterT In .' "

T fﬁe-nﬁwiv formied iord? /1. 1/

26, ; _A tazlor

.o cutfromaroli offabric He cuteach |

B |\_i5‘

. '-_'roll of equai length lntc 10 pteces He

. i .'._14F P {'\; N

- -cut at the rate cf 45 cuts a mmute .

i ‘How many rol!s would bé cut m 24 -‘ -

..mmutes? Al RIS

--."(A) 32 roils g o

had a numb 'P____:_‘of shirt pteces |

(B) 54 roils e et BN

. (C) .
. *‘_ (D) 120 rolls ‘

108 roils e

' 27.- Fmd the number of tnangles il‘l the

' gwen ﬁgure

R TS o NN S
i e TGS i

§ Hr ‘E

d ts) fh {ﬁé"fo ._:,

[ I -:-,:__
i x’; R D PRI PLE AR SO I AT

i 5 1%;

(D) Cannot be determmed

SIS R




(C) 2&«'*3 i *m SRS I rr
f e Ef.;:”‘ﬁs v .

(D) 2 3&4

20. A picture is-;:opied Drﬁd a "s\.héét t)f

I papera Sinches by101nchas”A1 5.

.5_'5 [ ?;

__.:.;.lﬂc;l}fma{gin Es_!eft ail arounq What_ ' 31 -

@ 288 oo (©8 y
(B) i3aa A @y
: NC a0 R Ty O Tumoven)

Nt Lo R . Lo B .




33. " Fiﬁd the mihifnum mjmber oféﬁaighi' L " PR o . ;
| - hnes requnred to make the gwen o SR

.
b f.a;_ ‘si

- ST
) 4isadiadentio dand6.
| (B) -2 15 adjacent t04a“d_.6-' -
_ (C) “4is adjacenttééah53'é .
(D)%_;__ Bant

34 Count the nurnber of trlangles and' | -

squares inthe g:ven f‘gure o Ry 2
IR 5, LT 'adjacentsurfaces and blackon the". '

L surfaces opposste to, b!ue_s%?n‘aces

(A) v 36 Traaﬂgies '*.7. Squares
Tri '; "'gies QSquares? :

\-il

vor QASTF&APHONE" which
Feid T

‘r.

(A)_ "'.I o !z




| ‘{1"39&% ow Pnanymeaqangfu{l;gglish words ‘. B ‘- - --&2) Afo-f;fsﬁ[AHATé';'i i \ L
can'beformedwaththelettersESRO---:'."c_--- ' -
st 5o S 3 "APBP#TA AIM

i ilsii’ig eaéh etfél‘ 3hly’t5nce in each- o { ) ﬂ

- word? -l Cwen ‘ *»(4») | ANOI‘M]AHAT
o .(A) None ;{ BT

Cewe
B} Three

| 40. :__3:34 is related to 12 in: ti‘le éafne way _'
§§9 IS related‘

EE RS T

o B e

be fﬂfmecl whose verttces are the-.-“\-'_?' -
: vertfoesofan octagon buthaveontyone} v

: }.’(23 MAJAYAJAM
o @, WVFVAVFVW
@ wvrA\fArAM
'_ | .w@'qh c!osea/resembfes !‘he rﬁmorimage | '};:' \_ _ﬁ,(_A). , [1 : _. { a\a‘.
" ofthe given combination. - T Bl et o e 5 o
”--':..‘42 TARAEN1014A (n IR _

(f) AMOFM!AFIAE @ it '('3=5?;::"'4.'§;; 3

boprinit o att”




45.

.-46I.

HCT I I

48,

:tn a row of boys lfAWhG‘IS 10th_
. from the left and B who lé gth from_
_.the nght mterchangeé thetr

SUPERVISOR”
(1):;9@8;\/;!3%3 _
%—ambeBN_é;os‘”

o %(2)

r-.

.'_(3) HeoﬂbeEﬁm N
@) EﬂbEB/\IOBg 1@

. 'g_, ﬁ"

4.

-'h‘s Y

“‘ ‘\._:’ ng. -U_:';- N
(D ) 8:53.

Ay L

Pl

2 1  .-; - .:.: _ (40):‘

.~ word.

T g-;‘f.}?i"i ae
A écomes‘l th from the
ek i i ody,

qufgi ow maqﬁysgoysg‘ara there in the . :

LY il _s_f Qi‘

row? |
@ _.23' |
@® 8.
| (C)-' 27 B
RN TR
fZ=52 and Aiioi:'% 48 then BAT wil

be equat to:

(A) 393

--_--\lf'-'the first At $62srid fétters in the
DEPRESSION"““ Iwere

| _j_“_snterchanged alsothethlrd }and the :
'”f-;fourth !etters the f fth and the_s:xth’_ .

11‘

ieiters and so’ on_ whlch of the_'

following_woulc,j bethe sevgnth !ette :

oty )1;1“- ”‘.\ \sf\‘iz.sia & 4336
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e Two numbers are‘respectwely 20%1_{’_'. B -

- ‘-.--;--;\_-};.-“_-.'_.."and 50% more than athird number g

l ._-__-.f_.These-two numbers are inthe ratzo:_'.b"r o

(11) ;(Tumover)




. (®) Re6d

e _;..'_"-__'_ar! d C can do the same work in

I '.'-.f_'_li'.-fmlsh the woi"

ﬁ._fahaum' .s :
| l'f'f_ (A) Rs, zo

NG~2N20 R 7 O R

Ry .
Lo E

........H-. A,_H‘

T 12 days A B'and C fogether can | "
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(A) 128 : x—2,the retainder i k The value

@




tffe *‘(8)2 : Set

B values of X and yare

. ‘ ?2 The dlscrimmant of the quardrat;c _'

Tl Tt
fafE

; equatton2x 4x+3 Ols ?  '-

'_'i:-.-73

(D) None ofthese ”
71 For WhtCh value of p, the paur of

equat;ons4x+py+8 0x+y+€ 0

has not unlque solutlon

(A) 4

Neg..szmo o (14) |




4 nanA i’the hand&tht rmsare
_':1-‘.5_2123%( ‘“u 15 g 'ii“‘% ad ‘f‘"‘ai‘%’ 3
11and17. respectwely The 151h term
st E brig N B { el st ’}iw;x AT
: ‘_is i ‘ '_

£ CF
BT {.‘

i (A) -_""'317 U "'--;:ii%;-' - o A P ofwhrch theﬁth term i 45

s
il

(c) 45 : ‘gzi) . . (B) 495 ) 5} r _' "

: ;w‘ (0)147 4 ;f;—-'_l;%;f; =k

S der
i ;}3 ea‘g{ ii""s'l* . . ;) .

75 Whiéh of the followang are in

'programmers to handie'system

_—_%'_ gz \

f‘_?‘- .

fcatlon- s _

it imtypes Hewmanypragrammers must"

be hared ’?-'-wf it 1

(A) 50;-_

@ ey

(A) 19 Gy ‘C’ 35«-,— SR L

(B) 10 sl © 2 BRI S

expected to perforrh_‘:]obs of both':. -




A

& ?““ mber whl?h Shquld QQ- b

15 lu‘ 31!

L. T‘s‘”

(A) 3. '.

(B) 13" N

'(A) vra ﬁ"";‘“- e

L z*(B) p_,,q ,_.1 L {D) 33% oy

| (C).'- P <.€fl- . ifasethasnelementsthen@hepower
set of that set has
i% S r[ih ’.?ij""z :l_aft f'{} *i*i :I\“‘f
elem_ents__ | "

(ﬁ) p+q 0

s fao'.-.
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N LAY

\-'Two _dice are thrown. Find the _-;: L
. L :

Lee

number from the serles of patural

t‘/.-'-

_gn) 5113

11}(;._:.

' 581’m ?l'hree coms are tossed Fmd the * . sy
o numbers‘ttO‘iOO ' '

L probabmty of aﬂ heﬁds‘“ ’ J*"x -

- (A) o ﬂ T ?1;094 ;l;mmi Iz',sﬁﬂ 1;2): e

5
Coa

: (B) ‘.3_!8. - S (‘ R BY. é;?%‘;?*&%_{f{!‘_"f:iiﬁ;@ aiilo

PR

oy s i | (D) Noneofthese o (;-gf _ 
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84, Fmd the chanoe of ptcking an aven




Ll'x SA

- of drawmg a whlte or‘a reid marble

(A) 100 revo!ut;ons ‘

5 ._.'_1((:) 271, 047~sq.cm

p\_obab;[;gy E \__‘—';\:» St

88 The area of the sggment of a cwcfe :
|f the angle of the sector I8, 120" and_ S

| :fihe radms of ihe mrcle IS 21 cm is' CLo

L _j_(D) 117 041 sq cm;
e .
L A snngle letter is se!ected at random

‘ .'f}?\(;f:l}l.[f?"-é_\‘{e:[)' -

P 0 L - 3
e . ~




90.. A a"d B, 3fe t‘NO events such that
P =0. 3 and P(AUB) = 08, 1A
and B are mdependent then

93 A bag contatns 8 red and 6 Elue ioa!ls
!t5 balls dre drawn at ranqorn what

s the probabihty that 3arered and 2

_ _are__blue_ L

\ : A . {{\_.‘r. -
91. A bag contalns 5 broWn and 4 white

socks Aman pulls aut two socks The_’ L

: cp__tour 15 i

LFO

i

92 “Two dtce are thrown ssmultaneously
| The probabthty of gethng a total score - S

R O e .

j ‘;t :’I_:x'i . B ' .'




In a ciass of 100 studeﬁts there are_'; .

' _.'?0 boys whose” é?erage marks
".'-1n a é;:ihg!e‘vsubject are ?5 If the o
average mark of the ¢ com plete cfass"_ :
; is 72, then the ave::age mark of the .
. :{;.;,girls [s s .

(D) “73 |

98, The sum of 7 vanates is 12 lf su{ of

R ;Tthvartate is

".‘.
LI T

ey -_-'-‘('i'?) 18 L

9? The medtan of the fo!lewmg

dlétnbutlon IS

Welght ln
neargst kg

No of Students : R S

4

_‘._42_..

B (gg) SR

H }z ;;3

WBIQ ht 3“ o No. of students|

nearestkg s

(B 53

oy 5{ o

.;n;--.‘.z_ d;stFIbUtlon IS

et R TR

. 98 l_T he mcde of the fo!lowmg frequency o

. _'..;_i'them are6; 13,9, 1, 14and10 the": [t obtalned

o (out zfm)

No of students '

Jol~lolalewln]

<40

. (A) 21 B

R (©) 6

(D) Noneofthess -

- (Tumwe')a e
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